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Simplify
\ cos(360° — 09). .cos(?

! i ® cos6

O siné
O -—coso
O coto




3 §yailg Fayacall Jlaslnis slasiwb (c

Simplify -

cos 180" cos 30" + sin 180°sin30°. .cos 180° cos 30" + sin 18f

O sin210°

O cos240°

-----------------------------------------------------------------------------------------------------------

® cos150°
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by a scale factor of 1 and has the
2
origin as the center of dilation, '
KB Spe oA
T aledi)

which are the coordinates of T'7?

O T(-1,1)

O T'(16,—16)

Feeeeememe -

---------------------------------------------------------------------------------------

e . ------l-l-—---—--h---------ll--------—----------—-----------.----------------—---n.bﬁ--t-—--“.

O T'(2,-2)



Which of the following is the IV

reflection of the point K(1,-3) in
the y-axis?

-----------------------------------------------------

B e L L T o o i ————————————

O K(-1,3)

O K(1.3)



Next Question TINa an anglie witn a posituve el T3 gl g g el S
measure and an angle with a 1:,\3:1 pa clgai) ala A2 )
negative measure that are

coterminal with the angle 210°.

O -210°,150

O —-150,30

b et R Rl M S e ————————————p

--------------------------------------------------------------------------------------------------------
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Determine the amplitude of

the function y = %sin 30 — 2.

- el e R T T T LT ----—-------—----------*--------t-------n——q-—-h-——q-“---“--—"--

1

© 3

O 3
Ly

O 36



W =

360

Determine the amplitude of

the function y= -;-sin 36 — 2.

23 jalall Sl layle duilial
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1
Rewrite -—12;—1- in the degree measure.

3 sty

197

Al iy — &,
O 3.3
Bt ST -
O 170.5°




-

3 B>y

The terminal side of @ in standard Candis o puali png B Q Lughll ¢l
position contains the point (0,-2).

.tan 6 -L".LJ:I -(D,'—E
Find tan 6.

O o

O -2
apa L

® .
Undefined

-------------—--------------------F--------h-——--—----“‘-------------‘-----------—-‘-h---q---h“------ﬂ -------
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Next Question

-

------

’ What is the image of point Z(—1,3) dglhs (g Z(—1,3) ibid 350 e
after a rotation of 180° clockwise ihi Je Aslall ojlie oladiy 180" gl
about the origin? ¢ a!
O Z@3.1)
i ® Z'(1,-3)
o Z’(31 —1)

-



Determine the phase shift of allall | gl

the function y = 3sin(6 — 30") — 2. .y =3sin(@ — 3
O 3
O =
O 2
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Find the exact value of sin 0 if G\ 13) Sin O 2 dAaaa dudd g
cos @ =§ and 270° < 0 < 360°. 270° < @ < 360" 5 cos O =lz
o _V3
' 3
L ® V3
§ 2
O V2
3
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O 360

O 180°



'Next Question S ' \108° 7 3

® 3.0m?
O 4.1 m?
O 6.0m?

O 2.6m?
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NextQuestié'n o '

1—sin? 0 1—sin? 6
Simplify —————. ; yeal il
plify sinZ 0 sinf@ ~° '
O 1
i ® cot? 8
O cos?8
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Which statement describes the Casanaill & BTN Cauas e 6
symmetry in the design?

--------------------------------------------------------------------------------------------------------------------

The design has exactly 1 line of symmetry.
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Next Question

~1JZ 4 © U 1218 1O 18 I
} —1¥ — =

O 8
O 10
© 12
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Next Question ] :

' Which expression can be used to ddUnia JiSED) Alladied (Sas (53 umiD L
form an identity with ?(sec® — 1)(secB + 1) 2=

(secO — 1)(sech + 1)?

O csc?6
O 1
O cot?6

-----—----------—--—---------------—--------—-q———ﬁﬂ----------------------.----‘----------ﬂ----------‘q--H-‘----‘---“_-“—“

® tan’@

-
fesRasevanasy
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Il

162 +92 -2 x9x 16cosC

O 92=10%2+16%—-2x10x 16cosB

' QO 162=10%2+9%2-2x%x10x%x9sinA



